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=sS4EHXNAE
[ 2Heto L &8 XY ESE <t 2Hatotn 320 A ClAtel ]
[ 02. D2l 4 23t F(duh) ]
3c =3 3 el =2 g5%) | STESED

02 M F At 0 0 0
AAA310441010 |22t =R LUH|A(0| S4]) £0| 2m, 374 ch 1 0 1
17 = & 3 A 0 0 0
AOB115000213 [7|FEAHHEZ g = 1 0 1
21 2 A 3 A 0 0 0
AAD150104100 [ERtAAME 7= =04 AMH7|=0 JtAN 5% Olst ZTON 2.504 0 2.504
AAD151100010 |AME V| E ARHH| - B J|&E S7hA2| that, 15ton HZEH TON 2.504 0 2.504
AAD151101010 |AMEH V| E =EH| - B 7|&E =7kxa| chat, 15ton HZES, 30km |TON 2.504 0 2.504
AQA120160000 ==, Zhatols A s AL oF &t M2 12.644 0 12.644
AQA800106300 |2l=& = A Hie 2 =& B2 & M2 29.482 0 29.482
AQA800108153 |SHE=| L E A =X M 5.4 0 5.4
AQAB00108154 |l ot & 7 M2 13.216 0 13.216
AQAB00108157 [S7|7 &HA EA 6 0 6
AQA800108159 [CIF X AHA EA 2 0 2
AQAS00TOW160 |72 = Z& A A 1 0 1
36 HE = Z Al 0 0 0
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AIA45010F110 |Zatof= A %] Oak 8+75%900 M2 29.482 29.482
AOA112400200 |H|EEF 27| B EFQ | 3+100%920mm, G| ZEFY M2 3.065 3.065
AOA112400205 |&=&7A x| =58, 48+23«4mm, PVC, EEH 2 M 5.46 5.46
AQA34000Z13A |M7|ZE HbS M2 29.482 29.482
37 M FZ A 0 0
3016150910027 A1 1 2 = MUHE "HEE| 12.5+900%1800mm( m* M2 0.84 0.882
AOB115000210 |=Hi - & - MHEH M, SHAIHEX|(HE M2 |) M2 38.802 38.802
AQA34000Z151 |l & 40w EA 21 21
AQA34000Z153 |22 S EA 14 14
AQA34000Z155 |2l &l M 9.64 9.64
38 oA S Al 0 0
30171706201449 25t 72| ZstRel, a2k, 12mm, 318 M2 3.572 3.572
30171708201444 5+ 2 32! 9t272l, 5mm M2 1.55 1.55
3017170820145( =] 72| Ll s2l, 5mm M2 4.259 4.259
AHF211305000 |®EIF2ZZH 5x5, AMlg|2 M 78.488 78.488
AJMAQF101205 |ZtH}Zaf 2 A X| W30+H50 M 2567 25.67
AJMAQF101206 |ZtH}=2f 2 A X| W80+H50 M 2.43 2.43
AJMAQF101210 |Ze}=af 2 A X| W300%H20 M 15.26 15.26




=2 FEHEAE

[ 2Heto L &8 XY ESE <t 2Hatotn 320 A ClAtel ]

AJMAQF101220 |EFZ mHA x| s (olE2lof) M2 1.392 0 1.392
AIMAQF101230 |25 4| d % B (2lE2|0]) M2 2.495 0 2.495
ALG100000020 |®El7l<?7| - ERel 5mm 0|5t M2 5.809 0 5.809
ALG100000040 |®El7l<?7| - EREl 10mm Of & M2 3.572 0 3.572
ANC133355000 [HIEPFET[++=MEHIE(S2{E) s 33, 12, MD2cEd(SHE) (M2 36.95 0 36.95
AOB113000210 [=H{ - - MIEEH 8, HFAMIHXK]| M2 34.815 0 34.815
A0C3211A9030 [DRY WALL(C-90) ok A 19 57«27 M2 16.884 0 16.884
A0C3211A9052 |[SAH = 2f i A %] W150+T50, QlHZ|{EHE M 7 0 7
A0C3211A9055 |SMI3EMX|(SEM0IE) W200+T50, QlHZIHZ & M 6.24 0 6.24
A0C9Q0011010 [QIE|Z|0{ E SR % Xy M2 2.314 0 2.314
39 71 BF 3 At 0 0 0
AQA34000Z12A |24 Z+Ad x| W3880+D300+H2430, S E=+Z S0tz VIES 1 0 1
AQA34000Z12B |24 Z+Ad x| W3120+D300+H1290, < =ofzt VIES 1 0 1
AQA34000Z212C |24 ZHAd x| W1400+D300+H1200, = Eofzt 74 1 0 1
AQA34000Z12D |24 Z+Ad x| W1560%D300+H1470, = Eofzt 7H 4 2 0 2
AQA34000Z12S |==t&HAd X W900+H900+D350 T 3 0 3
AQA34000Z12Y | &1 ehmh+ 4= b EH( 3 ) W1900+D615+H1100, =0tz Th4 1 0 1




HOALE A
[ orafof &8 XY Ssts 98t BislztE Z2+ M2 CIXtel ]

[ 01. X7 A 01. X[2H 3 ]

=y | =a | 5y 77 el Ay g2
Ao oot TEpE Dt
A (B M) 33.328<TETHMO 2 B A = 33.328
L (= d ) 0.13+3.19+0.355+0.155+6.06+5.364+0.75+1.041 = 17.045
H ( ofgs=ol ) 2.23 =2.230
B (zawol ) = 0.000
H1 (ol ) = 0.000
oL ( ) 5.795+0.35 =6.145
( ) * = HES

wm A ) 0

o £.05 Assuzyal elefz|of M2 |(33.308<T-E TR0l | SRR Ab>) 33.328

1 THE A Ztetol M2 (5.795+0.35)%2.23 13.703

. SRIERE =Bl CRRIES ol 2 2

0151041 el ! 0

0.75 (el ] > RFEH 0

L

5,795 e HHERET [+ HH I E(E21F) W5, 38, 15, AUEEH(SHE) M2 (0.13+3.19+0.355+0.1565+6.06+5.364+0.75+1.041) *2.23-(0.9+2.3)-(2.3%1.2) 33.18

(sl 2] 0

wE 7 Ef  mm 0

(el ] > BTl 3 0

gaFe 384 W3340%H1500+D150, MDF15t+X|HAIE 7Ha 1 1

(el ] » > ElRfel & E 0

CIRbQI = 21 '<' X, W3350+D(330+760)*H2230, X|&|7H 4 1 1

CIRpol =4 &2 "V AEE, W(1660+1800) xD400%H2230, K||7H 4 1 1

(el ] > X|EAMe 0

A x| HA &, Ws50+D100+T30, X|IHAIE 7Ha 4 4

[H] i) | SNESIw IR RPN 0

g e = A W(2150+1940+465) *H1100 7Ha 1 1

g e = A W(1910+2185) *H1100 7Ha 1 1

A Hota2dz20 "INFORMATION' 7Ha 1 1

(sl 2] 0
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[ 2t &8 XHS3E 2 st7tH Z2H AA Tl Al ]
[ 02. 12| ¥2d 25t H
= 5 i 44 &2
A 01, SIHH Ha o
A (M) 20.482<CADOIl 2/t = 29.482
M (ABTHE ) = 0.000
M (ABHE ) = 0.000
L (S a ) 23.019<CADO 2I8t = 23.019
A (L&) = 0.000
B (LA ) = 0.000
H (otdsol ) =0.000
B ( Zaol ) =0.000
Hi (0l ) = 0.000
(
0
W -
HIZAIE, 3.0T+1830, BH M2 |(29.482<CADOI I BHEI T H A1) 29.482
, 3.0+450+450mm, VIPEF, D2 0.78+2.33+0.78+1.6 3.065
48=23+4mn, PVC, ZEHS  |M 0.787 5.46
5.325 0
0
, 12.5+900+1800mm(m)|M2  |<ZEE>(0.2%0.2) x<EA>G+<2Z>24<C| T Kf>0. 350  3+<EA>2x<2%>2 0.84
U M M2 [(29.482<CADOM 2] BHE1 I Ab>) 29.482
A M2 <=5>4.0+2.33 9.32
g A 1 1
EA [156 21
EA |14 14
1 (3.0+1.82) =2 9.64
0
0
> I E-1 0
W2 |<IESA 24,0412 4.8
M2 [4.052.8-<OPEN>(3.6+1.08+3.4+1.47) 2.314
1 3.6+2+0.7+1.16+0.8+1.08+5 15.26
| M2 [3.6+1.08-(1.94+1.0840.8+0.5) 1.392
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[ eletofL &8 XHSatS 2Bt DrsihE B2 MA.CIxf ]

S MR H(elEl2lof) M2 (1.94%1.08+0.8%0.5) 2.495
[8] iy 0
[H] 1] > MIHE-2 0
E ZHf - FE - Mu2ed o, geHA IR M2 3.88+2.8 10.864
[8] iy 0
[H] 1] > MIHE-3 0
E T - FE - Mu2ed o, geHA IR M2 6.15%2.8+<7 1>0.375+2.8 18.27
[8] iy 0
[8] iy > =4 0
e T - e HIEEH 9, dEA I M2 3.425%1 AT+<H 1>0.44%1.47 5.681
[8] iy 0
[Hl] 1] > MIE-5 0
Zdpzaf e M x| W30+H50 M 2.43+1.47%2 5.37
ZHp T gl el A x| W80xH50 M 2.43 2.43
Zatrel Zatwal, Zat, 12m, I8 M2 2.43+1.47 3.572
w2797 - Bee 10mm O & M2 2.43+1.47 3.572
welFEe a2y 5x5, AMz|2 M (2.43%1.47) %22 14.288
[8] iy 0
[8] iy > HIl=-6 0
ZHp T gl ol A x| W30+H50 M 2.75%240.6%6+2.8+4 20.3
e FL el fLlwal, 5m M2 2.75%2.8-1.55%2.22 4.259
wE7<97] - 2eel 5mm 0|5t M2 2.75%2.8-1.55%2.22 4.259
welFe =2y 5x5, Az|E M (2.75%2+0.6%12+2.8%4+0.6+2) *2 50.2
[8] iy 0
[8] iy > HINE-7 0
E HIEHET [+ M H I E(S2{F) W, 33, 13, MIZEH(SHE]) (M 4.565+2.8 12.782
[8] iy 0
[8] iy > HIN=-9 0
DRY WALL(C-90) ko A9 5T« M2 (6.289+2.8)-(1.84+2.16+0.9+1.1+0.8+0.7) 12.084
E I ST+ E(S2 ) W, 33, 13, MIZEH(SHE]) (M (6.289+2.8)-(1.84+2.16+0.9+1.1+0.8+0.7) 12.084
SHIELR(SEIE) W200+T50, 2lElZ|loiE & M 1.84+0.04%2+2.16%2 6.24
SR =y MR W150%T50, QlE|2|0{E & M (0.9+1.1+0.8+0.7)*2 7

e ewel gr2wal, 5mm M2 (0.9%1.140.8+%0.7) 1.55




B AL A

[ Ststof L &8 XS5t 26 chatztd 37 A ClAtel ]
wE7<97] - 2eel 5mm 0|5t M2 (0.9%1.140.8%0.7) 1.55
welFEel a2y 5x5, Alz|Z M (0.9+1.140.8+0.7) x2%2 14
[8] ] 0
[8] iy > SSH [FHHU S A 0

E I ST+ E(S2 ) W5, 33l 12, MI2=H(2HE) M2 (6.289+2.8)-(1.84+2.16+0.9+1.1+0.8+0.7) 12.084

[8] iy 0
wm 7 Eb  [mm 0
2H M x| W3880+D300+H2430, P E=+Z S0} Ha 1
2H M x| W3120%D300%H1290, =0tz Ha 1
AT R W1400+D300+H1200, Z S0zt Ha 1
AT R W1560+D300+H1470, Z S0zt Ha |2 2
FEEMR W900+H900+D350 Ha |3 3
Al EH R EH A W1900+D615+H1100, Z S0zt Ha 1
Z =y gH[A (0] s4]) =0l 2m, 7Kg ] 1 1
[8] iy 0

Algd c 02, HAIA Pl E~|

A (HE H) = 0.000

M (ABIHE ) = 0.000

AB (ABHE ) = 0.000

L (s a8 ) = 0.000

LA (L7 ) = 0.000

B (Lad ) = 0.000

H ( ofd=ol ) = 0.000

B ( Zaiwol ) = 0.000

H1 (&0l1 ) = 0.000

( ) * = PlES

[8] iy 0
CICICTE S wm 0
2§ A7 Hiet 3 3 28 M2 <CAD>29.482 29.482
EEAMEHT|IE 29N M 7| S0 7tedd 5% of5k Z|TON <CAD>29.482x<T>0.003*<tE>1.35 0.119
AMHT|E MR - B J|E Z2tx2| thah, 15ton HEZEE TON <CAD>29.482x<T>0.003*<E£tE>1.35 0.119
AMHT|IE 28| - B JIE Z2txi2| ik, 15ton YZER 30km |TON <CAD>29.482x<T>0.003*<£tE>1.35 0.119




HOALE A

[ eletofL &8 XHSatS 2Bt DrsihE B2 MA.CIxf ]

[l 1] 0
[l 1] 0
[ 1] » > zhetol HA 0
X, 7tetoly HAH A A oF & M2 4.516+2.8 12.644
EYHMHT|IE 201N MMEHT| 20| 7teiM 5% ol3H Z|TON (4.516%2.8)*<T>0.015+<EtE>1.7 0.322
AMHT|E MR - B JIE Z2hx{2] 4, 15ton HEES TON (4.516%2.8)*<T>0.015+<EtE>1.7 0.322
HMHI| 2 2YH| - 3Y 7|E Z2hx{2] 4, 15ton HEZE2], 30km |TON (4.516%2.8) *<T>0.015+<EtE>1.7 0.322
[l 1] 0
[8] iy > SR EA 0
e LA =M M (4.041.4) 5.4
MY T|E =2dN HMH IS0l 7tAN 5% olsk Z[TON <EAES(4.041.4)*<T>(0.05%0.05) *<EHE>0.56 0.007
AMHT|E MR - B JIE Z2hx{2] 4, 15ton HEES TON <EAZE>(4.0+1.4)%<T>(0.05%0.05) *<EtE>0.56 0.007
HMH 7|2 2YH| - 3Y 7|E Z2hx{2] 4, 15ton HEZE2], 30km |TON <EAZE>(4.0+1.4)%<T>(0.05%0.05) x<EtE>0.56 0.007
EYHMEHT|IE 201N HMEHI| 20| 7teiA 5% ol3H Z|TON <POST>(4.0+1.4) x<WxH>(0.05%0.05%1.0) x<EA>(1/0.3) x<E+ZE>0.56 0.025
AMHT|E MR - 3 JIE Z2hx{2] 4, 15ton HEEZ TON <POST>(4.0+1.4) x<WxH>(0.05%0.05%1.0) x<EA>(1/0.3) x<E+ZE>0.56 0.025
HMHI|E 2YH| - 3Y 7|E Z2hx{2] 4, 15ton HEZE2], 30km |TON <POST>(4.0+1.4) x<WxH>(0.05%0.05%1.0) x<EA>(1/0.3) x<E+ZE>0.56 0.025
[l 1] 0
[8] iy > oelzels HA 0
b M2 (0.82+43.9)2.8 13.216
EYHMHT|IE 201N MMEHT| 20| 7tediA 5% ol3H Z|TON <BIX| £>(0.8243.9) %2 8x<WxH>(0.05%0.05) x<EA>(1/0.2%2) 1.95 0.644
AMHT|E MR - B J|E Z2hx{2] 4, 15ton HEEZ TON <BHX| £>(0.8243.9) %2 8x<WxH>(0.05%0.05) x<EA>(1/0.2%2) 1.95 0.644
HMH 7|2 2YH| - 3Y 7|E Z2hx{2] 4, 15ton HEZE2], 30km |TON <BHX| £>(0.8243.9) %2 8x<WxH>(0.05%0.05) x<EA>(1/0.2%2) *1.95 0.644
EYHMHT|IE 201N MMEHT| 20| 7tediA 5% ol3H Z|TON <OFZERR>(0.8243.9) %2 8+<T>0 . 05+<E BHH| 7| 2 EHE>2 1 1.387
AMHT|E MR - B J|E Z2hx{2] 4, 15ton HEES TON <O}ZERR>(0.8243.9) %2 8+<T>0 . 05+<E BHH| 7| 2 EHE>2 1 1.387
HMH 7|2 2YH| - 3Y 7|&E Z2hx{2] 4, 15ton HEZE2], 30km |TON <O}FZERR>(0.8243.9) %2 8+<T>0 . 05+<E BHH| 7| 2 EHE>2 1 1.387
[l 1] 0
[8] iy > =y M 0
S717 A EA 6 6
Cl&FA A EA 2 2
7|1E MEEA 4 1 1
[l 1] 0
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